TFUTCO

YIOLLILIE RPRNIEILS

-MODULAR LIGHTWEIGHT LOAD CARRYING EQUIPMENT-

INSTRUCTION GUIDE

TOYOTA TACOMA

IS SEEEEEEEEEEEEEEEEEEEnS
IS EEEEEEEEEEEEEEEEEEEEEEEEN
TEEEEEEEEEEEEEEEEEEEENY
IEEEEEEEEEEEEEEEEEEEEY
iSEEEEEEEEEEEEEEEEEEmy
'IEEEEEEEEEEEEEEEEEEm

FRONT PANEL

Congratulations on your purchase of a high quality PUTCO® product. Should
you need any application or technical assistance, feel free to call us at:

1-800-247-3974

Monday-Friday 8:00am - 5:00pm (Central Standard Time)
Contact your PUTCO® dealer for other quality accessories.

ﬁ PLEASE READ ALL INSTRUCTIONS BEFORE INSTALLATION

AND CHECK TO SEE THAT ALL PARTS ARE INCLUDED

REQUIRED TOOLS

PHILLIPS SCREWDRIVER T30 TORX DRIVER DESCRIPTION

Molle Front Plate 1

. //‘ Front Brackets 3

_ M6 Torx-Head Bolts 6
3

3

8-32 Philip’s-Head Screws

5/16 Well Nuts

1953XXI-FP



a —uUJUrTCoO | MOLLE Panels Instruction Guide

INSTALLATION INSTRUCTIONS

o Loosely assemble a well nut and Philip's-head screw onto each of the three front brackets. Insert
the well nuts down into each of the three drain holes located towards the front of the bed floor,
then tighten the screw until the well nut is snug in the hole, but do not overtighten.

NOTE: if desired, you may omit the middle bracket if you want to keep an open drain hole.

/

Front bracket locations circled in red

Unscrew and remove the three required T30 Torx-head fasteners from the upper part of the bed
front, then set the front molle plate in place, and attach to the bed re-using these three fasteners.

Fasten the molle plates to their brackets using the supplied M6 bolts and a T30 Torx driver.

Once the front plate is installed in the vehicle, ensure all fasteners are tightened until snug, but
do not overtighten.

Your new MOLLE Panel is now successfully
installed on your vehicle!

@

Completed Tacoma MOLLE Front Plate

1953XXI-FP



